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SN FUSKD
M NAAM2A=X Jletx=d & K&
@2 XNEEXAE X (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
==X 46,631,987 42,960,783 3,671,204
= 27,287,738
Xl 1,240,500
= 4,370,468
Al 13,733,281
NS AsIEX JIgtxcd 2 N & 3,958,290 3,275,874 682,416
= 279,000
Xl 1,240,500
< 245,797
Al 2,192,993
NE=TAY X 3,951,907 3,269,491 682,416
= 279,000
Xl 1,240,500
< 245,797
Al 2,186,610
A SR 2E ALS XA 324,843 228,850 95,993
201 et 44,000 39,000 5,000
01 At 2teltl 44,000 39,000 5,000
O E=EH| 5,000
o MBSX 2t HRFA 5,000,000& 5,000
O &= 20,000
0 NBZSXBLR 2LHANML BYHD
20,000,000& 20,000
0=t 19,000
o S8z AMIIEXNEEESFE =4 N
19,000, 000& 19,000
202 044l 5,000 5,000 0
01 = LH o4 1l 5,000 5,000 0
OAMEI =X g2 2,000,000& 2,000
OXAANSBENE S Y BIIEX
3,000,000& 3,000
207 A RO 40,000 0 40,000
01 284 40,000 0 40,000
ON4Il AHMA XNAMSEEHHE S ARESA
40,000,000& 40,000
307 21201 A 235,843 184,850 50,993
03 2IAHMEE2IHIES 40,593 31,300 9,293
OMEEXE2sE 29 40,593,000 40,593
04 RIZFHALAIH E = 3,000 3,000 0
022 3.1 SEHNM2S JISHA
3,000,000& 3,000
11T M SXAIS EX 192,250 150,550 41,700
OAL2 SR =2 ALl 300 ALY 36,600,000 36,600
ORESSAAY 120,000, 000& 120,000
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S FZ=Exn
Hu: NAASER JBES L X

0

@2 XNEEXAE X (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OR73 LHAIASI =X ALA X3S
4,500,000& 4,500
OZHAIALSI S XA =0 SHIXIJ
3,000,000& 3,000
OstaTges HEANLESE Y BIRY|
3,000,000& 3,000
ONAS FOQIIE EIIANE B8 & 2=
13,000, 000& 13,000
OUSIHXAILIVEY 4,050,000& 4,050
| DRaleig=ignl 3= guig—] 4,050,000& 4,050
OZoel 2211 A=z 4,050,000& 4,050
FOMET2AE A 2 X3 36,210 36,210 0
201 L4l 19,550 19,550 0
01 At 2t 2l 19,550 19,550 0
O2Le==EH| 13,550
o FEU=EX FRFA 3,000,000& 3,000
o SHIAXLX L2tX B1=
1,500, 000& »2H 3,000
oANREE ¥ HMABE 2 5,808,000 5,808
o FOMEXZAAMHEA E22 MH
1,742,000 1,742
O=&l 6,000
o FLU=EX FRFA 6,000,000& 6,000
202 044l 6,660 6,660 0
01 = LH &4 1l 6,660 6,660 0
OF2=X 2= 6,660,000 6,660
206 = Hl 10,000 10,000 0
01 =8l 10,000 10,000 0
O2HZHEY 29 AMHES 10,000, 000& 10,000
IZZEYIMNG(EX) 51,000 40,000 11,000
< 11,000
Al 40,000
307 glz2tol & 51,000 40,000 11,000
< 11,000
Al 40,000
10 ALSISXAIEEE 2 H EX 51,000 40,000 11,000
O =ZFEEWIANY 51,000,000& 51,000
< 11,000
Al 40,000
UEHELAREHHZI(EX) 73,464 63,600 9,864
< 14,692
Al 58,772
307 21201 A 73,464 63,600 9,864
< 14,692
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= 230,000
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201 LB-2E| 10,000 18,000
< 10,000
01 At 22l 10,000 18,000
OOlMel 25 Ldet>ZH| 10,000, 000& 10,000
= 10,000
301 L2 AF 1,000 1,000
< 1,000
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= 1,000
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02 QIZHITHOH R EFRES 2N = 19,000 11,000 8,000
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OXGASI2EEEAM 2FHI 42,277,000 42,277
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M RO|ZME P Y HASS MHOF XY
& =X SE XA (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
=X SEXZA 25,205 28,705 A 3,500
SEXNS0H AEX SE A 22 25,205 25,205 0
201 Let24d] 16,205 16,205 0
01 At 22/l 9,805 9,805 0
O Et==EH| 2,605
0 SEXA HREFH 2,605,000 2,605
022+ 700
o JIZMEEXHATY 70,0008 +10F x13] 700
O=&l 6,500
0 SEXA HRFZ 6,500,000 6,500
02 2324l 6,400 6,400 0
O3 23 LHA 6,400
0O ATHFOGUSLS SHRD
4,000,000& 4,000
0o SBEIAMRE UYPFNERU MRS
50,0003 401 122 2,400
202 Odl 9,000 9,000 0
01 = LH 4 Hi 9,000 9,000 0
O=EX SEXZA gRF2 9,000,000 9,000
I zMg BF 23,259,562 23,509, 117 A 249,555
= 18,498,600
< 2,217,255
Al 2,543,707
MASH(EX) 21,491,200 21,626,942 AN 135,742
= 17,192,960
< 2,149,120
Al 2,149,120
301 et d s 21,491,200 21,626,942 N 135,742
= 17,192,960
< 2,149,120
Al 2,149,120
01 MEI2EZE+05l= 21,491,200 21,626,942 N 135,742
O=320I==2 X MA=0 21,491,200,000& 21,491,200
= 17,192,960
< 2,149,120
Al 2,149,120
SOOIz 2X)(EX) 429,200 464,370 A 35,170
= 429,200
201 Let24E] 85,840 92,874 AT,034
= 85,840
01 At 22l 85,840 92,874 AT7,034
OB =+=EH| 85,840
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25,000

43,650,000&
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34,920
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5,238

48,650

A5,000

= Hn W
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S I =S B (=& J)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
08 WSIIZ20HetE = 52,438 59,446 AT,008
OUESSH(MHEIRER) 52,438,000& 52,438
HASE AKX ZHEl X 4,000 4,000 0
301 et A= 4,000 4,000 0
01 MEIBEE 053 4,000 4,000 0
O=) =422+ & REOA MU
fEE N 4,000,000& 4,000
228 (BEX) 609,137 636,010 A 26,873
= 487,310
< 48,731
Al 73,096
301 et a = 609,137 636,010 N 26,873
= 487,310
< 48,731
Al 73,096
01 MEIBEE 2063 609,137 636,010 A 26,873
O22=X XA 609, 137,000 609,137
= 487,310
< 48,731
Al 73,096
22X X3 A 2,000 2,000 0
202 4l 2,000 2,000 0
01 S OHI 2,000 2,000 0
O23=EX MASAZ XA SHEXA
2,000,000& 2,000
S Al Zel AL oA X2 (XA 14,400 14,400 0
101 124l 14,400 14,400 0
03 RIAHA2ZZ2RE > 14,400 14,400 0
OSe At 2elAr S22 F0Hdl X &
4,000,000& 4,000
OSe At 2l Ab HIt24d XI&
4,160,000& 4,160
OSe At 2l Ab A5 AH XI&
6,240,000 6,240
SEtAt ZelAb 21 XA (BEX) 124,470 121,296 3,174
= 62,235
Al 62,235
101 @124 dl 124,470 121,296 3,174
= 62,235
Al 62,235
03 RIAHAZZ2THE = 124,470 121,296 3,174
OSSAtd 2el AL 2148l XI&  124,470,000& 124,470
= 62,235
Al 62,235




SN FUSKD
Hu: [0 FME PE U HASE MBOE N
Chelr BOJIEME PR (el @2)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
ANZ7 SetAtdl 22 IR (EX) 15,000 15,000 0
= 7,500
Al 7,500
201 gBt2A | 6,750 1,500 5,250
= 3,375
Al 3,375
01 AP 22| H| 6,750 1,500 5,250
OB =2H| 6,750
o At &2lAE F=&X 6,750,000 6,750
= 3,375
Al 3,375
202 04| 750 0 750
= 375
Al 375
01 2Ll 750 0 750
O=2U 0 bl 750, 000& 750
= 375
Al 375
301 et A= 7,500 13,500 A 6,000
= 3,750
Al 3,750
01 Al B & A 46 2 7,500 13,500 A 6,000
OMA22IHAX S A& 7,500,000 7,500
= 3,750
Al 3,750
S0s U4Eg SEgMAHA KNH(EX) 159,600 100, 800 58,800
= 111,720
Al 47,880
201 et d| 79,800 12,096 67,704
= 55,860
Al 23,940
01 AFR 2t 2| bl 79,800 12,096 67,704
Ot 2Y| 79,800
o Atdll&tel AtgY =& 79,800,000 79,800
= 55,860
Al 23,940
301 et A= 79,800 85,680 A5,880
= 55,860
Al 23,940
01 M EXEE 2562 79,800 85,680 N5,880
OAMA22IHAX 2SS A& 79,800,000 79,800
= 55,860
Al 23,940
SIU=2XXNCE 22X 10,318 0 10,318
201 gBt24y| 6,020 0 6,020
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5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 6,020 0 6,020
OBt~ 2,200
o S| =XNXNE FRFH MEES 78
2,200,000& 2,200
O=&l 3,820,000 3,820
202 Odl 4,298 0 4,298
01 = LH 4 Hi 4,298 0 4,298
OSIY=RNNEUHAR 2= & &
4,298,000 4,298
(UE3=PIPNE.] 800 800 0
201 Let24dH] 800 800 0
01 At 22/l 800 800 0
OOISSII&S HLA A BY U B3h3tc
SIES 100, 000& 82l 800
SXOISUHR A 11,600 9,500 2,100
206 = Hl 9,500 9,500 0
01 MHZ 4l 9,500 9,500 0
O=XDIst g3 Ma=Hl
500,000&*x190H S H S 9,500
303 &3 2,100 0 2,100
01 243 2,100 0 2,100
O=X)Ist 2+ S8Hs L& 2,100,000& 2,100
20t SXNMHA IHEXN(EX) 87,000 219,200 A 132,200
= 43,500
Al 43,500
405 XtAHE SHI 87,000 219,200 A 132,200
= 43,500
Al 43,500
01 AL ESFH S 87,000 219,200 A 132,200
O=EXN AL IS 2 87,000,000& 87,000
= 43,500
Al 43,500
SEE=ENINE2HE 18,180 0 18,180
201 24l 18,180 0 18,180
01 At 2t 2l 2,100 0 2,100
OBt~ 2,100
o XFEHIAXNY R 350, 0002 *6CH 2,100
02 =224l 16,080 0 16,080
OZZ23LHA 3,780,000& 3,780
OXHE & | 12,300, 000& 12,300
MNAS HAHE A2z N 25,000 25,000 0
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et BODIZME PF (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
301 et d = 25,000 25,000 0
01 MI2ZE+5l= 25,000 25,000 0
ONAS FHAANE FUALESEE N
25,000,000& 25,000
NASS AEAY X 3,355,782 2,663,773 692,009
= 2,556,240
< 223,783
Al 575,759
NS g BN 3,642 3,642 0
201 Let24d] 3,642 ,642 0
01 At 22/l 1,602 ,602 0
O=&tl 1,602
o A& At XA 1,602,000 1,602
02 =24l 2,040 ,040 0
O3 LA 2,040
o MH&JIa =2 2,040,000& 2,040
3222, XN9xedd EHHRIE(EX) 2,744,633 ,932 608,701
= 2,195,706
< 219,571
Al 329,356
201 Let2d] 3,000 ,000 0
= 2,400
< 240
Al 360
01 At 22l 3,000 ,000 0
OB ==EH| 3,000
o A&z gRFA 3,000,000& 3,000
= 2,400
< 240
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= 334,176
& 57,287
Al 85,931
01 Al B & X 46 2 477,394 480,677 AN 3,283
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Al 1,121
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X ZH -
L= B
el

(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 2,800
& 360
Al 840
01 Al B & A 46 2 4,000 3,000 1,000
OWHEEC = 2 4,000,000 4,000
= 2,800
= 360
Al 840
HHSHAY (==X 1) 38,820 41,520 A2,700
Jl2ddl(=aEX) 38,820 41,520 A2,700
JI223H (==X D) 38,820 41,520 A2,700
202 04 d| 33,600 37,200 A 3,600
01 2L HI 33,600 37,200 A 3,600
OSE =20 100,000& 28 x12& 33,600
203 &2 =&XH| 5,220 4,320 900
04 FEASHEYRF 5,220 4,320 900
OO0 =2 X 435,000& ~12& 5,220
MEES(Z2U=EXD) 1,959,014 1,844,734 114,280
WEHH K& (=2=X1 1,959,014 1,844,734 114,280
WEHAHXES (==X 1,959,014 1,844,734 114,280
701 JIEIS HEEHE2 1,959,014 1,844,734 114,280
1 JIEIS HEEZ 1,959,014 1,844,734 114,280
OoaEs EY 1,959,014,000& 1,959,014
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